Class 6th Subject - Sanskrit

Competency level Context Response Type of questions
RURGIRCESI T /e Types i yarR T P UPR
Lo : - Educati VSA | SA | LA | VLA
Tacaed | 1 1] AV Social | Personal | Vocational onal Selected | Constructed 1 2 3 5
9 mark | mark | mark | mark
sec -A 01 x 05
Reading - 05 01 01
sec -B _ 01x05=05
Writing 01x02=02 |41 03=03 03 01 | 01 | 01
sec-C 04 x 01 =04 _
Grammar 01x02 =02 | 02%02=04 04 03 04 | 03
Sec-D _ 01x02=02 _
Literature 01x01=01 | 43y 03=0g [01%03=03 01 05 01 | 01 | 04
Total QS 06 07 03 01 05 | 05 | 05 | 02
Total
Marks 07 17 11 05 05 |10 |15 |10
Question
- Wise % 35 41 18 06
Marks -
Wise 17.5 425 27.5 12.5




1. UISga] (U1S) AR b 15 3id (37.5 %)

2. UTS IMEIRT i 15 b (37.5%)
3. OATHSD (FoTTHD) 10 3d (25%)

SI—ATHROT TTS JATIRT & BT ATHRBU W I 8



Class 7th Subject - Sanskrit

Competency level Context Response Type of questions
Iraar fawR UG / HeH TypesfiFameR T ® YBR
Lo : - Educati VSA | SA | LA | VLA
Tacaed | 1 1] AV Social | Personal | Vocational onal Selected | Constructed 1 2 3 5
9 mark | mark | mark | mark
sec -A 01 x 05
Reading - 05 01 01
sec -B _ 01x05=05
Writing 01x02=02 |41 03=03 03 01 | 01 | 01
sec-C 04 x 01 =04 _
Grammar 01x02 =02 | 02%02=04 04 03 04 | 03
Sec-D _ 01x02=02 _
Literature 01x01=01 | 43y 03=0g [01%03=03 01 05 01 | 01 | 04
Total QS 06 07 03 01 05 | 05 | 05 | 02
Total
Marks 07 17 11 05 05 |10 |15 |10
Question
- Wise % 35 41 18 06
Marks -
Wise 17.5 425 27.5 12.5




1. UISga] (U1S) AR b 15 3id (37.5 %)

2. UTS IERT 3 15 b (37.5%)
3. EATHSD (FoTTHD) 10 3h (25%)

SI—ATHROT TTS JATIRT & BT ATHRBUT W I 8



Class 8th Subject - Sanskrit

Competency level Context Response Type of questions
RURGIRCESI T /e Types i yarR T P UPR
Lo : - Educati VSA | SA | LA | VLA
Tacaed | 1 1] AV Social | Personal | Vocational onal Selected | Constructed 1 2 3 5
9 mark | mark | mark | mark
sec -A 01 x 05
Reading - 05 01 01
sec -B _ 01x05=05
Writing 01x02=02 |41 03=03 03 01 | 01 | 01
sec-C 04 x 01 =04 _
Grammar 01x02 =02 | 02%02=04 04 03 04 | 03
Sec-D _ 01x02=02 _
Literature 01x01=01 | 43y 03=0g [01%03=03 01 05 01 | 01 | 04
Total QS 06 07 03 01 05 | 05 | 05 | 02
Total
Marks 07 17 11 05 05 |10 |15 |10
Question
- Wise % 35 41 18 06
Marks -
Wise 17.5 425 27.5 12.5




1. UI6g %] (U1S) AR b 15 3id (37.5 %)

2. UTS IMEIRT i 15 b (37.5%)
3. OATHSD (FoTTHD) 10 3d (25%)

SI—ATHOT TTS ATIRT & BT ATHRBU W I 8



